Flowers Delivery

| would suggest not to model customer. It is extra work and it is entity which probably does not have defined business process
(use just pool).
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This diagram model Flowers's delivery system. Customers can place an order and choose from two
payment methods: online card payment or payment on delivery. If chosen the online card payment
method, the payment is verified. If the payment was successful or the customer will pay on
delivery, the order is processed and bill generated. Florist then prepare and pack order, which is
then delivered to the customer. If the order was not paid online by card, the customer pays for the
order to the courier.



